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Simplify the followinng expressions by long division:
1. (234622 + 11z +6) + (z + 3)

2. (23 +102% + 31x + 30) +~ (z + 5)
22% + 922 + 102 + 3) + (22 + 1)
62% + 1322 + 9z + 2) + (37 + 2)

23— 222 — 5+ 6) = (v —1)

(?
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(
6. (234 5x? — 21 —24) + (v — 2)
(z° — 192 — 30) = (v + 2)
(62° — 1327 +4) + (22 + 1)
(23 — 27) + (x — 3)
(

10. (82 +1)+ (22 +1)

11. An expression for the area of a rectnagular lawn is given by:
(223 — 5x? + 1) units?

If the expression for the length of the lawn is (22 — 1) units , find an expression for
the width of the lawn in terms of x.

12. A rectangular shaped swimming pool has a length of (32 + 2) units and a width of
(x 4+ 1) units.
i. Find an expression for the area of the floor of the swimming pool, in terms of x

ii. If the expression for the volume of water in the swimming pool is:
(323 + 2% — 3z — 2) units?,

find an expression which describes the height of water in the pool, in terms of x.
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